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NEW QUESTION 1
How is NetEdit installed at a customer location?

A. Via an Aruba NetEdit hardware appliance

B. Via a DVD using a virtualized platform like Microsoft’'s Hyper-V
C. Via the Aruba Central cloud solution

D. Via an OVA file and a virtualized platform like VMware’s ESXi

Answer: D

NEW QUESTION 2

A company has a third-party AAA server solution. The campus access layer was just upgraded to AOS-CX switches that perform access control with MAC-Auth
and 802.1X. The company has an Aruba Mobility Controller (MC) solution for wireless, and they want to leverage the firewall policies on the controllers for the
wired traffic.

What is correct about how the company should implement a security solution where the wired traffic is processed by the
MCs?D18912E1457D5D1DDCBD40AB3BF70D5D

A. Implement downloadable user roles with a gateway role defined on the AOS-CX switches

B. Implement local user roles with a gateway role defined on the AOS-CX switches

C. Implement standards-based RADIUS VSAs to pass policy information directly to the AOS-CX switches and MCs
D. Implement downloadable user roles with a device role defined on the AOS-CX switches and MCs

Answer: D

NEW QUESTION 3
Which protocol should be configured to allow NetEdit to discover third-party devices?

A. SNMP
B. SSH

C. HTTPS
D. HTTP

Answer: A

NEW QUESTION 4

A network administrator is attempting to troubleshoot a connectivity issue between a group of users and a particular server. The administrator needs to examine
the packets over a period of time from their desktop; however, the administrator is not directly connected to the AOS-CX switch involved with the traffic flow. What
is correct regarding the ERSPAN session that needs to be established on an AOS-CX switch? (Choose two.)

A. On the source AOS-CX switch, the destination specified is the switch to which the administrator’s desktop is connected
B. On the source AOS-CX switch, the destination specified is the administrator’s desktop

C. The encapsulation protocol used is GRE

D. The encapsulation protocol used is VXLAN

E. The encapsulation protocol is UDP

Answer: AC

NEW QUESTION 5
When an AOS-CX switch uses a temporary copy of the Configuration State database, what kind of analysis does NetEdit perform to ensure that the configuration
is correct?

A. Syntax validation

B. Semantic validation

C. Conformance validation
D. Change validation

Answer: D

NEW QUESTION 6
An administrator wants to leverage always-on PoE on AOS-CX switches. Which statement is correct
regarding this feature?

A. Provides up to 60W of power per port

B. Supports all AOS-CX switches

C. Provides surge protection for POE and non-PoE ports
D. Requires NetEdit to implement

Answer: A
NEW QUESTION 7
A network engineer is examining NAE graphs from the Dashboard but notices that the time shown in the graph does not represent the current time. The engineer

verifies that the AOS-CX switch is configured for NTP and is successfully synchronized. What should be done to fix this issue?

A. Ensure the engineer’s web browser is configured for the same timezone as the AOS-CX switch
B. Ensure the engineer’s PC is synchronized to the same NTP server as the AOS-CX switch
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C. Ensure NetEdit and the AOS-CX switch are synchronized to the same NTP server
D. Enable trust settings for the AOS-CX switch’s SSL certificate

Answer: C

NEW QUESTION 8

An administrator is defining a VSX LAG on a pair of AOS-CX switches that are defined as primary and

secondary. The VSX LAG fails to establish successfully with a remote switch; however, after verification, the remote switch is configured correctly. The
administrator narrows down the problem to the configuration on the AOS-CX switches.

What would cause this problem?

A. Local optimization was not enabled on the VSX LAG
B. The VSX LAG hash does not match the remote peer
C. The VSX LAG interfaces are in layer-3 mode

D. LACP was enabled in active mode on the VSX LAG

Answer: B

NEW QUESTION 9
Examine the configuration performed on newly deployed AOS-CX switches:

Switch(config)# radius-server host cppm key plaintext aruba123 vrf mgmt

Switch(config)# aaa authentication port-access dot1x authenticator radius server-group cppm
Switch(config)}# aaa authentication port-access dot1x authenticator enable

Switch(config)# interface 1/1/1 — 1/1/48

Switch(config-if}# aaa authentication port-access dot1x authenticator
Switch(config-if-dot1x-auth)# enable

Switch(config-if-dot1x-auth)# exit

Switch(config-if}# exit

After performing this configuration, the administrator notices that the switch ports always remain in the EAP start state. What should the administrator do to fix this
problem?

A. Define the server group cppm

B. Set the ports to client-mode

C. Create and assign a local user role to the ports
D. Enable change of authorization (CoA)

Answer: D

NEW QUESTION 10
A network administrator wants to replace older access layer switches with AOS-CX 6300 switches. Which virtual switching technology can the administrator
implement with this solution?

A. Both VSF and VSX

B. Only Backplane stacking
C. Only VSF

D. Only VSX

Answer: C

NEW QUESTION 10

How should a network administrator add NAE scripts and implement NAE agents that will run on an AOS-CX switch?
A. Use the web interface of the NetEdit server

B. Use the web interface of the AOS-CX switch

C. Use the web interface of Aruba Central

D. Use the CLI of the AOS-CX switch

Answer: B

NEW QUESTION 14
Examine the network topology.
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= The network is configured for OSPF with the following attributes: Corel and Core2 and ABRs
= Area 1 has 20 networks in the 10.1.0.0/16 range

* Area 0 has 10 networks in the 10.0.0.0/16 range

= Area 2 has 50 networks in the 10.2.0.0/16 range

= The ASBR is importing a static route into Area 1

= Core2 has a summary for Area 2: area 0.0.0.2 range 10.2.0.0/16 type inter-area

Here is the OSPF configuration performed on Corel:

router ospf 1
router-id 10.0.0.1
area 0.0.0.0
area 0.0.0.1 stub
area 0.0.0.1 range 10.1.0.0/16 type 1nter-area
area 0.0.0.2
area 0.0.0.0 range 10.1.0.0/16 type inter-area
exit
interface vian 10
1p ospf 1 area 0
exit
interface vian 100
ip ospf 1 area 1
exi1t

Based on the above information, what is correct?

A. ISP 1 is not reachable from any area.

B. Corel has received one type 5 LSA from the ASBR.
C. Area 0 has 81 routes

D. Area 1 has 23 routes

Answer: C

NEW QUESTION 19
What are best practices when implementing VSX on AOS-CX switches? (Choose two.)

A. The ISL lag should use the default MTU size.

B. Timers should be left at their default values.

C. The default system MAC addresses should be used.

D. The keepalive connection should use a direct layer-3 connection.
E. The ISL lag should use at least 10GbE links or faster.

Answer: BD

NEW QUESTION 20

What is the correct way of associating a VRF instance to either a VLAN or an interface?

A. Switch(config)# interface <interface-ID>Switch(config-if)# vlan access <VLAN-ID> vrf attach <vrf-name>
B. Switch(config)# vlan <VLAN-ID> vrf attach < vrf-name >

C. Switch(config)# vlan <VLAN-ID>Switch(config-vlan-<VLAN-ID># vrf attach < vrf-name >

D. Switch(config)# vlan <VLAN-ID> vrf < vrf-name >

Answer: C

NEW QUESTION 23

An administrator will be replacing a campus switching infrastructure with AOS-CX switches that support VSX capabilities. The campus involves a core, as well as
multiple access layers. Which feature should the

administrator implement to allow both VSX-capable core switches to process traffic sent to the default gateway in the campus VLANs?

A. VRF

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy HPE6-A73 dumps
@ 2 PQSS@QSLJ https://lwww.2passeasy.com/dumps/HPE6-A73/ (121 New Questions)

B. VRRP
C. IP helper
D. Active gateway

Answer: D

NEW QUESTION 24

A network administrator needs to replace an antiquated access layer solution with a modular solution involving AOS-CX switches. The administrator wants to
leverage virtual switching technologies. The solution needs to support high-availability with dual-control planes.

Which solution should the administrator implement?

A. AOS-CX 8325
B. AOS-CX 6300
C. AOS-CX 6400
D. AOS-CX 8400

Answer: C

NEW QUESTION 27
A network administrator wants to centralize the management of AOS-CX switches by implementing NetEdit. How should the administrator purchase and/or install
the NetEdit solution?

A. Install as a hardware appliance

B. Installed on a supported version of RedHat Enterprise Linux

C. Installed in a virtualized solution by using the Aruba-supplied OVA file
D. Installed on a supported version of Debian Linux

Answer: C

NEW QUESTION 32
When comparing PIM-DM and PIM-SM, which multicast components are only found with PIM-SM in multicast routing? (Choose two.)

A. IGMP querier

B. Rendezvous point
C. Bootstrap router
D. Shortest path tree
E. Designated router

Answer: BD

NEW QUESTION 35
A network administrator is implementing a configuration plan in NetEdit. The administrator used NetEdit to push the configuration plan to the switch. Which option
in the NetEdit planning section should the administrator select to save the configuration running on the switch to the startup-config?

A. EDIT

B. VALIDATE
C. COMMIT
D. DEPLOY

Answer: C

NEW QUESTION 38

Which protocol does NetEdit use to discover devices in a subnet during the discovery process?
A. LLDP

B. ARP

C. DHCP

D. ICMP

Answer: D

NEW QUESTION 41
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